CGM - 18 Paper -4
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What is thermoplastic ? Write the structure and uses of polythene polymers.

2. ﬁm@wﬁ%ﬁaﬁﬁqmﬁ%amm ,
Define alloy and amalgam and give two examples of both, -

3. mﬁﬁm,ﬁﬁ?ﬁmwmﬁ:ﬁmw|

| Explain the differ;nces among cost iron, wrought iron and steel.

4. W1 % e & Fraw R |

Write the laws of reflection of light.

5. SEMFHg@End 7 (P =)
What are basic properties of light ? (Any Four)

6. & 7 i g e e e S

What is grafting ? How it is done in plants ?

7. A R B w i o S|

Describe briefly the structure of a neuron or nerve cell

8. WRYTTIRIR ? 3R Igew wleda wwsnse |
What is polyembryony ? Explain it with examples,

T - 2 _ |
1. fm mﬁﬁmﬁmmﬁﬁq:
34,49, 50, 34,21, 27, 50, 34, 12, 43

Find median of the following data :
34, 49, 50, 34, 21, 27, 50, 34,12,43
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2. T % wgas anveds S ;
29 7
2

5°7° 13

29 7
Find the L.C.M. DfS’?’ 13

3. AR LS a=0.03b T Lo 1 A WA VG | y

If 1.5 a = 0.03b, then find the value of b—_i.

4. m%sznﬁﬁﬂzﬁﬂmﬁiﬁrﬁﬁﬁilﬁ%mm%maﬁ%mﬁﬂm

e .

Two cards are drawn at random from a well sh ] N

that both are red or queens_ shuffled pack of 52 cards. Find the probability
2a+ I:.

2a+b a+
Ifa+4b 3, then find the value of +2bb.

6. mﬁw#ﬁa@rl,lﬁﬂﬁaﬂaaﬂzﬁm%maﬁaﬁa | 387wt fpe geg W

o=t 7 : 2
gta:;s:hb'?ugm a watch for ¥ 1,150 and sold it at a gain of 5%. At what price did he sell

-3 ' _ :

1. FrE ) $r§ IR fawand iR | 2
Write any four features of computer. - |

2. wiReam R e d ?mﬂ:nﬁrﬁ%m%ﬁﬁﬁl | 2
What is Software ? Write the names of Software, -

3. HiFui S 9w I frfa | 2
Write any four uses of Solar energy. : T

A : BRI (4
4. R Afers da w1 g ffed | ' | 2

Write the principle of Photo Voltaic Cell.
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s dg-fafauvar % aw fafew | | 2
Write threats of Biodiversity.

2

6. Friipa ol a g 7 ards P Qv &5 A TR |

What is non-renewable energy 7 Write its &Y TWO SOUITES.

7. WW%WWWWH&F@W? | (%1 =)

Write the names of Toxic elements which are responsible for water pollution. (Any Four)

2

g d-deirerioh A H & i et e | 2
Write the advantages of e-technology in agriculture field.

wWIg -2
_ Section — 2
@mﬂmmesmm’ﬁ—wﬁ)
Wt - 1 |
9,  JeTeXvy |fta Nl au freare S @HEEd | 4

Illustrate with examples roasting and calcination.

10, firedi 3 aatert 3 fram Rifgw o awged iy =1 3 wa i |

Write the laws of combination of resistances and obtain formulae for equivalent resistance.

4

11 mmamm%.mmwg?
A H A dgh 4 AR, e 39 A9 fEr 12 dee R At @ F 9 frp & H

Hiaar ) 7o ST |

Define intensity of electric field. What is its unit ?
If the distance between two plates is 4 c.m. and potential difference between them is

12 volt, calculate the intensity of electric field between plates.

4

12, T GYI0 & C, T C, T5hi 1 A T | 4
Differentiate between C; and C, cycles of carbon-fixation.

13, Aeeet & aungd faawt w1 aviw Hifdm | 4
Describe the Mendel’s laws of inheritance.
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7. M 3t N i 3 T Tt ot 6 Fe s 4 ¢ 3 % A 2 13R 100 A e v
ﬁﬁﬂmﬁmﬁaﬁﬁiaﬂwﬂﬁaw%mﬁﬁmﬁﬂimﬂﬂﬁmt,ﬁm
FA 7 : SRR | ek N i ol i e e & 7 o 4

Number of students studying in college M and N are in the ratio 4 : 3 respectively. If 100
more students join the college M and there isno change in the number of students of college

N, then the respective ratio become 7 : 5. What is the number of students in college N ?

8. foseft wham 3 e orerefl ot et 540 31 ST g Rrdt ot sy @ eireva i quitan T R 1
o e fama 1 3@ faemefT S 108 37 wra R | 4

The following pie chart shows the marks obtained by a student in an examination who
scored 540 marks in all. Find the subject in which the student scored 108 marks.

9. T rRmEmAEA R |

321 x 452
Ted I I Sie Siiieh gRI St | | 4

Solve : 321 x 452
Using Urdhva Triyagbhyam and check the answer by Bijank.

-3 .
9. g-=urer i e I R ? WHITRA | | 4
* What do you mean by e-chaupal ? Explain.

10. W%mwmmmw%mﬁml | 4

Write the names of four input and four output devices of cumputer
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11, e der e e & 7 % Qe 4y Ih\lllllllllﬂl:

What do you mean by fossil fuel ? Write its twg examples

1. LPGFIE Ry Rr T @ ? _ \
" What is LPG ? How it is obtained ? .
13, R & Sa-fafra & @dereter a1 w1k B | f ‘.
Explain the Hot-spots of Biodiversity in India.
WUg -3
Section -3

ﬁmﬂm‘ﬁﬂm-muaﬁ-m_

-1
14. Fﬂzﬁmﬁw T8 el SRt v avky B | 8
Describe the reaction occurring in blast furnace during extraction of Iron. ~
15, IS 1 ] 7 -0 STie o) e w el wwese | 8
What is semi-conductor ? Explain the construction and working of a p-n diode.
16. | & YaEAFT 1 Gfaa quiq FR | %

Describe the human respiratory organs with the help of diagram.

)
10. T FTHA | 7 T2 WA & ST IR 0 A =aifedra § | 31w o wem 80 2 | afe 20 2
TS UG § WSt o & SR Tedeh e i 2 & fnfira R s @ @ i me MR, @

Tl ATeg 3 AU AT M & #1913 14 i | 8
A sequence consist of 7 terms arranged in descending order. The mean valué of the
sequence is 80. If 20 is added to each term and each term is divided by 2 to get new mean
as M, then find the difference between M and original mean.

1. foreft 7t & u ot form wo @) fargadl P st R wma fog Q } I P A P A R a6 16 92 40
fred snasdt 2 1 TG T9 2GR AP A QT TR AT M EFAN R | WA R RA P

e o et e e 7 8

On a river, Q is midpoint between two points P and R on the same bank of the river. A
boat can go from P to R in 16 hours 40 minutes. It can go and return back from P to Qin
12 hours. How long would it take to go fromR to P ?

& 04
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14. ﬁnmﬁlﬁ%mw | $6 a3 gryfer 39T SR |

Mention the effect of Solid Waste. Explajp, the control measure of its management,

15, TIRIT IquOT 1 R 2 S o, WyT ey 0T 3 ST T 99 i | 8

What is Nuclear pollution ? Describe its reasons,<ffects and control measures.

16. mﬂmmﬁﬂrﬁwﬁmaﬂhiﬁﬁﬁ_l 8
Describe the Man and Wild life conflicts,

g _ 4
Section - 4 _
(T 6 wreg w125, 37w - 10)

(39 Tz w02 A F 02 W svoren/OR 6w i it gt |
sraefi st 3 Q9 1 I AR )
WRT - 2 . '
12. Feffes arferes § Rt ooa 2 frsit A o B ¥ gfard 2t ¥ & # e ofyr
(HU3 T ) ghfa 2 | TIFTT 1 e 98 3 it 6 I AR | 10
Study the following

in the core infrastruc
questions :

table which shows the amount of money invested (Rupees in Crore)
ture areas of two districts A and B of a state and answer the following

fSen/District A Se/District B

FR &A/Corearea | 1995 | 1996 | 1995 | 1996
ferga/Electricity 8152 [1054.2 | 2065.8 | 2365.1
TEA/Chemical 389.5| 476.7| 17453 | 9864
a9/ Thermal 6324 | 565.9 | 1232.7|1026.3
lv/Solar 468.1 | 589.6 | 1363.5 | 17921
fRTIUNuclear 617.9 [ 803.1| 1674.3 | 21821
@/ Total 12923.1 | 3489.5 | 7081.6 | 8352.0

() 1995 & g 1996 ﬁaﬁa‘iaaﬂza_ﬁwﬁammﬁwﬁwﬁm it gam 7

By approximately what percent was the total investment in the two districts A and B
more in 1996 as compared to 1995 ?
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(i) 1995 SAGE 1996 % RN Ty i e 3 et s e g oeem & 7

What is ratio of differences of investmary : - 1y, g
in 1996 compared to 1995 ? €nt in District-A on electrical & thermal areas

(i) 1995 3R 1996 & R B A F01 P 385 st 1 Rorey R T tenm— Y
o r ?
Approximately how many times was the total investment in 1995 and 1996 in
District-B was that of total investment of District-A in the same year ?

(iv) R Bren BAFw @ 1997 % Soft ft 9f ot ) gwifan & et 1995 @ 1996 a6 guifdt
o, ?ﬁﬁmﬂﬁw??ﬁgﬂﬁﬂmwmﬁm ?

If the total investment in district-B shows the same rate of increase in 1997, as it had
shown from 1995 to 1996. What approximately would be the total investment in B

in 1997 7
AYET/OR
T § 3mivE ¥ drrem Rl )
Write the contribution of Aryabhatta in Mathematics.
TUE -5
Section — 5

@R ) yrEg €T - 175, 3% — 15)
(stlmﬁm-mmnsﬂmngﬁmmm;onﬁamﬂﬁ&w@|
areadfi @i e 1 g am 3 WA 1-1 5 I I AREri R )

-1

17.  SohTT-Sea ST 1 8 7 WehraT- e w1 % fora forferg e st wnfteron, 2geht smmafin
Td HRIGE i IS, | ey dga F9E & 393 fofigg | 15
What is photo-electric effect ? Write the laws of photo-electric effect and explain Einstein
cquatmn, threshold frequency and work function. Write the uses of photo-electric effect.

HYF/OR

qmrﬁmﬁaﬁmmﬂmmﬂmqaﬂﬁﬁrmauhﬁﬁq n
Wlth the help of labelled dlag;ram describe the structure and working of human heart.

W -3

7. QTSI § S99 EHEd & 7 Ao R o $6 e 1 v Hif | 15
What do you mean by Information Technology ? Describe the role of Information
Technology in rural India.

AYF/OR

wita feramrer Sa-farferean g R, v |
India is a Mega-diversity Natmxi explain.
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